B B 2ZE RN
WHHEREES

&R
HEERE1EE . D
BAL ERTIT
HITEE BT EX KEE | FEE S Lo AR
FEE A 2 5l Bl 5 THE® | THEEL :
24,751|53 BERE TS 23382 22,808
24.,751/532 BE/NEHE 23382 22,808
24.751(53220000 BRI E S TS 23382 22,808
22.540|1 B AZERH 20,956 20,456
13,907(11 IEXEREHE 13,806 13,507
13,142|113 =iy 13,038 12,139 825 - astEAAER
BHANER
765|114 TETE 768 18| T HE - &aitE R AZRH
dHE
283[12 BB SR N\ B E 352 359
39(124 3PN =T 36 36| erat M
36 36 36| A\ EE
207 280 280 |3 apsm ey
355[13 BN T /E=REN 412 412
343[131 hiprE 400 4001 R R S BT - astE
NE &R
12 12 12|y p e
3,372[15 i 3,550 3,470
1,654(151 EAE g 1,680 1,650 %ﬁ% C aEtERAEAH
m&R
1,718/152 FEE 1,870 1,820 gggﬁ%i D ot A2
“HER}
3,043|16 BIR B E € 1,256 1,196
1,147]161 8k BRI R RS < 1,160 1100 (spszom 2R A4 © &5tE
I E &R
1,896|162 T 2B R R B < 96 96|55 TiRIREEMH 4 « AEtERA
2 F IRk
1,581]18 e =V AIE =g 1,580 1,519
54]181 STHEE T fRietE 60 T AR e e
1,290 1,270 L2505yiE B TimeEr « astE A
2 FHHAHE R}
237|18Y HA 8+ E 250 192\ (Rfiienh « &atE R AZ RN
qHE R
1,893]2 B FeEs A 2,090 2,016
12321 KEBE 291 291
71212 TAESGFTEE 7 T 530 K (R /K) B R BR
LEEEE
62 160 1602
20 54 SA4f REEAS Y - BB
20 40 40(ErsEes




B B 2ZE RN

W E SRS
E& RRIAR
PEREIFE AL BT
HIEE EBIER KEE | LEE st
FEE & Bl R E THEE | THEE —
14214 TAEGFTKE 30 30[Kkz
24[22 EE 30 30
2221 Ealf= 3 3EE
21222 R 27 27|EarE
7123 TEE 7 7
7231 B IRE 7 TRAH =
724 ENmISsE T EEE 7 7
7241 1l Re 255 T8 7 R THE S
32425 BHEE RIREE 305 247
70252 — K FEEEDE 52 2|k (E) e eE
31[254 HirgsreEgd 28 28 a&!i&%ﬁ%ﬁ% it
0 17 O|@% B KIS E Y SIHEEGEES
0 41 Ol@ u%t%t%Z%ﬁﬁgéé
(1)
30[255 et S et S 30 30(EhE—a 4TS H2,5007T%1
2H
37 30 0[RS A - BHEE
471257 FEIER D 47 47 7&%*@%‘5& AR A
109 60 60| N2z ~ SRR s Y
0j26 iR 2 2
0pR6Y HA R E 2 2|&E TAEB R SIS TR
1,256[27 — R E 1,276 1,266
7481279 SMEEE 760 RN YN VIN
508[27D SRR A Bl 516 SI2[e{RiE ~ /NRIERAGJET T fliBh
(1372859277 (57 424,000
T+ RER 1,976 T+ R ER 1,17
6TT+55 R H TR E 1,4407T)*9
H=257,3287C ° 2. _{RIEIRE
N6T2TT ° 4. %E?E’%;%ZEMS
8,0007T ° SALETRI T2 »
#516,0007T)
81[28 HERGE 100 94
0[285 SRR~ T~ 6 O @ ¥prEer gz Py - 308 DT BT 2 A B
[ A R B WS sy
8287 Zattake () slaad 20 20|\ Fh2r s Rl et E S s
;7&%, %
4[28A EIST R e 4 At BT A L
69[28Y Hpth AR 70 OfE%LEFRe 8
72029 NERIRE 72 72




B B 2ZE RN
WHHEREES

EE&RRBPAFR
HEERE 1 o
B ¥rETT
AIAERE EBIER KEE | LEE L g 2RO
RS & Bl R E THEE | THEE i
72291 NHEARE 72 T2\ BRI AT R 2 $E R RIS 2 6,000
TE*12 H=72,0007T
1603 el R P 186 186
16032 JEEREY 2y =2 186 186
150321 wA (B8 Him 163 163|—f e e (R R N )
01322 T 19 1B - BT RN
B TCRFEZM > THE*9 H*300
TC=18,9007T 2.iC & T Ic 4+
1007
21328 B A (JRERT 2 2B S A B (PR B BR
Frrfsi A ) S EES)
8|32Y HCA SRR 2 2| @R F B (U E51) 2,100
7t » B TIe RS- 1007T
13(7 % - 188) - WEBh - 13 13
B - B - BOBER
TEENE
1{71 o2& 1 1
1{713 BEEEEE 1 ) e /A
12[74 FEEE - HERE) - R 12 12
fi ~ IS RO
12[744 R ~ B RORs s 12 2[R0k A B = FiRE R4 A 36
2,0007)
145(9 HAth 137 137
145)91 HAr 137 137
4091Y HAt 40 40| @4 5a B AR E B ER (S E1)
58 50 SO0[&rEEms K B AT
6 6 O[smEiie B B L R A %
TCRERE(H/NERR G EE Y - 5B
SCHEE ~ BHE&E)
6 6 O [y i e A 2 (B 5 EEL 114
28 28 28|y - B 28 A807T(
BEHEAESSEIET LA
TITEELR-4807T
7 1 T R g - S H600
JCX12H=7,2007T * Bc&ToT
F4m-2007T
24,751 4 i 23,382 22,808




